Enter Slip #1
1. A hermit crab lives in a shell abandoned by another animal and has one powerful claw.  The claw and the shell are alike because they both

(a) Grow.
(b) Provide shelter.
(c) Help in getting food.
(d) Provide protection from enemies.

2. Mrs. Smith wants to see which direction the wind is blowing.  Which of these tools is the BEST one for Mrs. Smith to use?

(a) Weather vane
(b) Thermometer
(c) Barometer
(d) Hygrometer

3. Green plants are important to animals because the plants

(a) Consume both food and oxygen 

(b) Consume food and produce oxygen 


(c) Produce food and consume oxygen 

(d) Produce both food and oxygen

4. A town uses herbicides to control weeds along the streets.  Some of the herbicides washed into a pond during a rainstorm and killed all of the algae.  What will happen now that there are no algae in the pond ecosystem?

(a) The fish population that fed on the algae will decrease.
(b) There will be more oxygen in the water for the fish to breathe.
     (c) Fish that fed on the algae will have to eat other fish for energy.

(d) A pond will support more fish because there is more living space.

5. Rain, snow, sleet, and hail are all examples of which stage in the water cycle?

(a) Evaporation 
(b) Precipitation 
(c) Runoff 

(d) Condensation

6. Which of the following helps the leaves break down after they have fallen off a tree?

(a) Meat eaters
(b) Rocks

(c) Decomposers
(d) Cold temperatures

7. What forms when water particles condense in Earth’s atmosphere?
(a) Rivers 

(b) Clouds 

(c) Small lakes 
(d) Water vapor

8. The blending of an animal’s fur or skin color with its surroundings is called

(a) Seasonal migration 

(b) Camouflage 

(c) Protective hibernation 
(d) Metamorphosis

9. Enota Elementary School has a weather station.  The school’s barometer reading fell during the afternoon.  What type of weather can be expected when the barometer reading falls?

(a) Weather will remain the same 
(b) Wind will decrease in the next two hours 
(c) Clouds will increase, and it will soon rain. 
(d) Rain will soon go away, and sunshine will return

10. A student made a snowball and left it on a shelf outside. The next day, the student observed the snowball and it had melted. Which statement best explains a change in the snowball?

(a) The air temperature increased, causing part of a solid to become a liquid.
(b) The air temperature decreased, causing part of a solid to become a liquid.
(c) The air temperature increased, causing part of a liquid to become a solid.

(d) The air temperature decreased, causing part of a liquid to become a solid.
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11. A hermit crab lives in a shell abandoned by another animal and has one powerful claw.  The claw and the shell are alike because they both

(a) Grow.
(b) Provide shelter.
(c) Help in getting food.
(d) Provide protection from enemies.

12. Mrs. Smith wants to see which direction the wind is blowing.  Which of these tools is the BEST one for Mrs. Smith to use?

(a) Weather vane
(b) Thermometer
(c) Barometer
(d) Hygrometer

13. Green plants are important to animals because the plants

(a) Consume both food and oxygen 

(b) Consume food and produce oxygen 


(c) Produce food and consume oxygen 

(d) Produce both food and oxygen

14. A town uses herbicides to control weeds along the streets.  Some of the herbicides washed into a pond during a rainstorm and killed all of the algae.  What will happen now that there are no algae in the pond ecosystem?

(a) The fish population that fed on the algae will decrease.
(b) There will be more oxygen in the water for the fish to breathe.
     (c) Fish that fed on the algae will have to eat other fish for energy.

(d) A pond will support more fish because there is more living space.

15. Rain, snow, sleet, and hail are all examples of which stage in the water cycle?

(a) Evaporation 
(b) Precipitation 
(c) Runoff 

(d) Condensation

16. Which of the following helps the leaves break down after they have fallen off a tree?

(a) Meat eaters
(b) Rocks

(c) Decomposers
(d) Cold temperatures

17. What forms when water particles condense in Earth’s atmosphere?

(a) Rivers 

(b) Clouds 

(c) Small lakes 
(d) Water vapor

18. The blending of an animal’s fur or skin color with its surroundings is called

(a) Seasonal migration 

(b) Camouflage 

(c) Protective hibernation 
(d) Metamorphosis

19. Enota Elementary School has a weather station.  The school’s barometer reading fell during the afternoon.  What type of weather can be expected when the barometer reading falls?

(a) Weather will remain the same 
(b) Wind will decrease in the next two hours 
(c) Clouds will increase, and it will soon rain. 
(d) Rain will soon go away, and sunshine will return

20. A student made a snowball and left it on a shelf outside. The next day, the student observed the snowball and it had melted. Which statement best explains a change in the snowball?

(a) The air temperature increased, causing part of a solid to become a liquid.
(b) The air temperature decreased, causing part of a solid to become a liquid.
(c) The air temperature increased, causing part of a liquid to become a solid.
(d) The air temperature decreased, causing part of a liquid to become a solid.

